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Fn(x) = - 910NN F2022(2)‘1
f(Fn—l(x)ax) iUin>1

BUNGG 969
AABC W1SINNRA AB =4, BC =7 82 AC =59 M) a = ZBAC
GIAANIRIYISAI]NY sinﬁg + cosﬁgﬂ

UNGHS 9EL
1 2 2019 <
ANNRUYR f( ) f(—)+---+f(—) INWRHRT
v 712020 2020 2020
= ; x € RY

fo(x) " Fro X €
UUNEHS BEM
lkhuhiv

1 1 1

+ + ...+
log.a-log.a? log.a%-log,a® log.a™1-log.a™
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-1
=2 log2xH

o n-el
[UUNEG 9

t‘mZLﬁﬂwﬁjﬁmI cosxcos2xcos4xcos8x = 1—16‘1
BUNHS G

iniegholmuistgs 1313

BUNGG BEH

s ghghimuwissgs 13137

UNGHS 96D .
mivefighoigmuistgs 13333313338 4

BUNGHS G0

Ag:UAN:HSHIMAN ABC [waompitansc I9 M 8% N Gans
ARMORAISEY AB 81 AC1 MN §4 CI §ua(pi P4Q AhGnnoytw
it MN inh PQ 1wua BI 81 NQ [um iAgihh AC 81 I1QH
UUN&G 96w

f thugavSAnnanloanGgsiagaui 0 81 1 Twiglhmangean
21RI{MY: '

- __1
() f(1-x)= @)

1
1 (x) FF@)
(i) £ (f (f (x))) = x4 )
9. GIAANS £(2), F(—1) 8§k f(g)ﬂ
V. ANNAHSAYS F(x)Y

1

o al

[UUNHS 9CE
ANG{AURISGSSAR (x,v) 1
gHAUIDIRA

-C: ZOD.

gi3ynisny (x2+3y2)- 2077 tgnly
S 7

Gin:SgSARIGYS n (MUISHSAYSONYN y = (n2+n)x? —2n + 1
2012
+1 madAEURpaiisanc A, §4 B, 9509 Y A,B,1

n=1
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189 x, v,z MESSOAIRWS 9 (AWUENAD
1 1 1 1( 1 1 1
+ + —|—+—+—]
x2+yz y2i+zx 2Z2+xy 2\xy yz 2x
UNGHS B9
o~ o x1=1, x9=2012
BRARG

{x,} MEARURHY ARNHIW T 9
I Xn+1=\/X 41" %n
AONSY lim x, 9

xX—+00
BUNGHS 9tk
ABC tifiimaniahns(Rh AB =13,BC = 15,AC =14 1 606 D, E,

- .. AD BE CF -
F iglifuitia AB,BC,CA {8/ IRV — =x, — = SH
L“'z BC,CANRD W T3 =5, gr=y, =2

2
x+y+z:§,x2+y2+z2: = ALNSIGASNAIMAN DEF
BUNEG 9EEm
QUNDN xp, 31 (B = 1,2,8,...,2012) GSSARIFNS S oy +xo+...+ 29012 =
2012 1

J X
Y1+ Yo+ +ya012 =1 1 AWUENAT Y. 2 < = 4
=1 Xkt Ve 2

UNHS BEE

msznzn[l—(g) +(§) ]ﬂmnsw lim P,
un

n—+oo

b PP 25 a o0l IQ‘J al 2011 x 2012
IAAIYHCURDIS x IR0 x SR y MOSSARIRNS INW —— < 9
~ ‘ N “ 2012 vy 2013
9

(=Y [

34 & JLﬁJHwLnU”WSGUEUgULU‘@ﬁ mANnIsigni IRyt 1Ak
NNYWIRTAMAD 9VRHGIY f{?mgmf{j@ MOMHAT BY Y 84
AIj @ﬁm"@nﬁmlﬂumﬁmi’fmﬁn'ﬁmymw ésmumsmmum
AR &g ‘:mLusmnﬂmmsﬁ?mgmméﬁ AU SATRUMSTY

D. D3-
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[UN&E vt

UMt A = 62012 4 13201292012 17201235584 44 9
[UNEs 990

i WS sin®x? + sin?2x” = sin?3x% + sin®4x” 9
LUNHs 999

a’—vat+4+2

a

[UHUBWH S MR GHIMANTARIR UM SHRAIGR{UTN D(a) =

U a > 9 ARUIThHAUIDISHAGR R MA[UHUY LUNAT 29k
IMRSANAISHSAYS f(x) = In(Vx —1— V7 —x)+ Vcosx™

UNHS 9am

UM r(x) = x®—5x3-38x%+2x+1 msgmm‘itﬁjh@ a1,a9,03,04,05
AW s(x) = —x2 +5 NV MYWIRHIG)HY

AMNSIRIUANN p =s(ai)s(ag)s(as)s(aq)s(as)

UNGHS 996

HSAUS £ AMNATAW F(x) = ——— IR0 @ tBgsfnigunsitiwawni 1
a*++/a
1 2 2011
¥ ﬁmmﬁmUﬁS:f(—)+f(_)+...+f(_) .
v 2012 2012 2012
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{ a2 dod )

IAISENAGSH (3-2))Z+(3+21)Z-12=0()
A- UNORIANGANT M GRURARD IRUBISHMAR Z ighinsnngsh

(I) Athua L U[iﬁuEUanfnnﬂn 4

2-ASUB % ﬁiunnutummsmﬁﬁtﬂﬁﬁ 3+5i 88 -3+i

uimth U4 L thisin$risHRA [AB]

DIRMENES
A- UM AINNGANG M aRURARS IRnsHAR Z t@]ﬁgﬂﬁémﬁésﬁ I)
ATUQA A0NG

«GANG M NSHIAR Z = M(x, )
HSHZ 80 Z gruah (1) shms
B-2i)x+iy)+(B+2i)x—iy)—12=0

3x +3yi —2xi —2yi%+3x —3yi + 2xi — 2yi2—12=0

3
6x+4y—12:O:y:—§x+3
y/\
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ey

o o s 3
G18: ANGANG M IRUMISHAR Z AMUDA L y=—5x+3
- UMt UE L N SHSHNA [AB]

MG A YISHIAR 3 +5i = A(3,5)

énﬂGBmsmﬁﬁ —3+i=B(-3,1)

mi I(a,b) hGANGANMUISHRA [AB]

+ 3—3 + 5+1
IAQS q = ATYB _ —0 p=2ATYB _ =3

o 2 2 ’ 2 3
S19] 1(0,3)

JANBMIUET AB: y=mx+n
AB,5)eAB=>3m+n=5 (1)

B(-3,1)e AB=-3m+n=1 (2)

wh (1) +(2) #HpShuhiihns 2n =6y n=3

2
INem =—
3

=0

G 5§

U
A

Cio QO

2 I a
AB: y=§x+3 HNSIHAMN{IMUGN m =

LWl N

3 . s, 8
L: y:—§x+3 HNSIHAMNNMUGN m =5
=>m-m'=-12LLAB{I)
wa 1(0,3) BSUARSMIUEA L : 3=-x0+3 iy
$12] I € L= LnAB padanoanm I (I11)
my (I1) 84 (IID) ams L irk8h AB (phdansanme I
BO1S: UA L iuRndrisHia [AB]

s cod )
NN £(2) = 2?8 +b52% +c221° SN G S SNt st 2019

1+ : ! 20
S f( fl) = 2015 + 2019v/3i 4 GUANANINIRUIAIGA £(1)
$4 1000 4
SIRMENES
LT
].+ 3 T o« 5 o
Ml w= \/_l iS1: w =e 3 AN Primitive 6th roots TSUSNStIﬁfﬂ
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UM F0) = aw?®™® + b2 + 2016
=aqw’+bw+c

ol Tﬁf( )=a+b+c

- A8andnigaiais6gSARG

Re(w?)=—=191: Re(w) =2

U |
S1‘%j—§a+§b+c=2015

S —-a+b+2¢c=4030
- i8an8nignignisGgsARs

C.‘?

H[\Dl—‘

ZSLD

V3 .. V3

AN S Im(w?) = Im(w) = - SF —(a +b)=2019V3

oa+b=4038

W a Sh b US miﬁ 201911 iLUthfLUn a=b=2019
4030

= c=——=2015
£(1) = 4038 + 2015 = 6053
IR STAN SN TEA £(1) 8% 1000 A 53

( )

Teoishnom ,
2m

SUmi (=e n

o (TEUTSRAM ) SAIW 1 = 2 MGSSAHR
( C2,., 0 ies noisham 4

(2n) . . (2 )
=CcoS|—|+1i8sin
n n

it ¢ i n isham 19: ¢ t@jh;ﬁﬂﬁ ("—1=04910 ¢ #11AMS
1+(+C+-+0"1=01

21
AW (=en I - 1=(x-Dx-0(x-%)-
(x—Cn_l)ﬂ
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s

\

(=) S
, iuishinm
2m

AW (=e N I 1+x+22++x" T=(x-1Dx-0)
(x=¢%) (x=¢")
o1+ + %+ (V" Enilnim 88 0 ttﬁmms 9 o ( Primitive
root of unity ) { ¥ primitive nth root of unity iOhTuE n isham stiw
1, ¢, 2.0 wglagaam 9

2mik
o (Primitive root of unity v2) { = e 7 i primitive nth root of unity
sia ged(k,n)=1
«(NU)MAHER, Cyclotomic polynomial ) AU)MAFHEAUY 1, D, (x)
Al AU) min ﬂj[ﬁﬁ?ﬁﬁﬁ SUNAN the nth primitive roots of unity
« (Cyclotomic Polynomial facts) (V)M AIRABAMNY n AMNUMESHNT
NN SIRYWAR NSITAMNGSSAR taioals x"~11a8siusthg
foAls «* — 1 Sim:At k<n 4
-ﬂtﬂmﬁ?@ﬁugﬁﬂ}fﬂﬁ n Al mtr]m§§&ﬂ UTUAS the nth primitive roots of
unity, i.c 51N ${AU Primitive nthroot {, ®,(x) , ANAVMYSANSIHANNT
GgSARRINACURE Wiwms ¢ tfe
o (Geometry ) TesisRAmuIRamsthAnuisnvimanSwaislidianam

21
ANURARG 1 MIAANGSSARIW =e n Bthifum U—mjush
AURIW

-1 -1
a . —+ a —
o ( Trignometry ) U { = e 1212 cos(0) = ¢ 2( SH sin(0) = ¢ 2(

‘1
e (Roots of unity filter ) 1RTHIW f(x) = Zaixi NANNMYW INIAMS

0410 £ £ )

n nli

J

The equation x” = 1 has n roots which are called the nth roots of unity. x" =1 =
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cos0+isin0=cos2knm +isin2km, k is an integer.

1

X = (0022]<;en+ isin22k];t)n
/A /A
x=coS—— +1isin—— where £ =0,1,2,3,...,(n —1).
n
o 2rm . . 2km
So each root of unity is cos—— +isin—— where 0 <k <n-1.
n n

We know that complex numbers of the form x + 7'y can be plotted on the complex

plane(Argand Diagram). If we compare each root of unity with x + 1y, we get x =

2km . 2km . .
cos—, y = sth——. Now, we see that the values of x and Yy satisfy the equation
n n

of unit circle with center (0,0) i.e x2 + y2 =1.

From above it can be concluded that the roots are located on the circumference of
unit circle with center at (0, 0). If we join the points we always get a regular polygons
of n sides.

I. Introduction/ facts you should know
21

2
1. (Roots of unity) Let n = 2 be an integer and let { = e N = cos (—) +

n
.. (27 92 n—1 )

isin|—/|. Then 1, {, (*,...,(" " are called the nth roots of unity.
n

2. If { is an nth root of unity, { satisfies (" —1=0. If{ # 1, then 1+ + (% +

...+(n_1:0‘

3.Let{=e N .Thenxn—l:(x—1)(x—{)(x—(2)---(x—(”_l).

4. Let{=e N . Thenl+x+x%+ - +x""1=(x—1x-)(x-%)--
(x=¢"")

5. 140"+ 4+ """V s pif n|m, and O otherwise.
6. (Primitive root of unity) { is a primitive nth root of unity if it is an nth root of
unity and 1, (,..., ("1 are all distinct.

2mik
7. (Primitive root of unity v2 ) { = e N1 is a primitive nth root of unity iff
ged(k,n)=1.
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8. (Cyclotomic polynomial) The nth cyclotomic polynomial, @, (x), is the polyno-
mial whose roots are the nth primitive roots of unity.

9. (Cyclotomic polynomial facts) The nth cyclotomic polynomial is the unique ir-
reducible polynomial with integer coefficients that is a divisor of x” — 1 and not a
divisor of x* — 1 for any R <n.

The nth cyclotomic polynomial is the minimal polynomial for the nth primitive
roots of unity, i.e. for each primitive nth root {, ®,(x), is the monic polynomial
with integer coefficients of minimum degree with { as a root.

10. (Geometry) The roots of unity form the vertices of a regular 7 —gon on the unit
2m1

circle in the complex plane. Multiplying complex number by { =e 7 corresponds

/A
to rotations of — about the origin.
n

-1 s
¢ andsin(@)zc 2( .

211

11. (Trigonometry) If { = e'?, then cos(0) =

12. (Roots of unity filter) Let f(x) = Zaixi be a polynomialand { =e 1 . Then

FQ)+ @)+ () + o+ £ ()

n
I1. Problems for discussion

=Zaixi (1).

nli

27
1. Let n be an odd positive integer, and let { = cos (—

n
1 1 1

+ + ot ——
1+1 1+¢ 142 1+t
2. Verify (1).

3. Evaluate
2017 2017 2017
+ 4ot .
4. (USAMO 1976) If P(x), Q(x), R(x) are polynomials such that P (x5) +xQ (x5) +

x°R (x°) is divisible by 1+ +x” +x° +x*, prove that P(x) is divisible by x — 1.
5. Leta,b,c,d be positive integers, such that an @ x b rectangle can be tiled with a

.. (27
+18itn|—|. Evaluate
n

combination of ¢ x 1 verticle strips, and 1 x d horizontal strips. Prove that either a
is divisible by ¢ or b is divisible by d.

6. Show that if a rectangle can be tiled by smaller rectangles each of which has at least

37
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one integer side, then the tiled rectangle has at least one integer side.

7. (IMO 1995) Let p be an odd prime. Find the number of p—elements subsets
{1,...,2p} with sum divisible by p.

8. (China 2010) Let M = {1, 2, ...,n}, each element of M is colored in either red,
blue, or yellow. Set

A={(x,y,2)EM xM xM|x+y+z=0modn,x,y,z are of same color} .
B={(x,y,2)e M xM xM|x+y+z=0modn,x,y,z are of pairwise distinct
color.}.

Prove that 2|A| = |B].

II1. Additional Practice

9. (USAMO 1996) Prove that the average of the numbers nsinn®forn = 2,4.6,...,
180 is cot1° .

/A
10. Prove that cos (—) is a root of cubic polynomial with integer coefficients.

11. (Putnam) Let Po = (0,0). Forn = 1,2,...,8, Let P,, be the rotation of point
P,,_1 45 degrees counter-clockwise around the point (72,0). Determine the coordi-
nates of Psg.

12. (USAMO 1977) Find all pairs of positive integers (m,n) such that the polyno-
mial 1 +x™ + 22" + -+ - + ™" is divisible by the polynomial 1 +x + 2% + - - - + x™.
13. (Leningrad Mathematical Olympiad 1991) A sequence a1,Q9,...,a, is called
k—balanced if a1 +ap 1+ - =ag+apig+--+ =+ =ap+9p +---. Suppose
the sequence @ 1,39, ...,a50 is E—balanced for £ = 3,5,7,11,13,17. Prove that

all the values a; are zero.
2m

14. (India2015) Letw = e 5 . Show that there are no positive integers @ 1,a2,03,04,

a5, ag such that the following is an integer:
1+aiw)(1+aw)(1+azw)(1+asw)(1+asw)(1+agw).

15. The set of integers is partitioned into a finite number of arithmetic progressions

with each integer in one progression. Prove that some two of these progressions have

the same common difference.

16. (Jim Propp) n light bulbs are located at the vertices of a regualr n—gon. Initially,

exactly one bulb is turned on. You can choose any collection of bulbs whose positions

are the vertices of a regular polygon, and if they are all on, you can turned them all

off, or if they are all off, you can turn them all on. For what n can you eventually get
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all of the bulbs on?
17. Letap, by, cp, be integers for £ = 1, ..., n, and let f (x) be the number of ordered

triples (A, B, C) of subsets (possibly empty) of the set S = {1,...,n} that partition
S for
Z a;+ Z b; + Z ¢; =x (mod3)

1eS\A 1eS\B 1eS\C )
Suppose that £(0) = f(1) = f(2).Prove that there exists i € S such that 3|a; +b; +

C;.

18. (IMO Shortlist 2007) Find all positive integers n such that you can color the num-
bers in the set S = {1, ..., n} red or blue such that the set S x S x S contains exactly
2007 monochromatic ordered triples (x, y, 2) for which n|x + vy + 2.

19. If P is a nonzero polynomial with integers coefficients, show that there exists a

complex number z with |z| = 1 and |P(2)| = 1.

20. Let
3k 3k+1 x3k+2

X
Alx) = k;(%)!, B(x) = /;)m C(x) = ;;)W

Evaluate A(x)® + B(x)? + C(x)® — 3A(x)B(x)C(x).
a3 cud )
10U M 8k N usifimanasy] MNP Gaislidigh ¢ 9 6006 Q

A
gwigiad N sl ¢ I8y MQ = MN 4 U6 QP [yl C
RiGAGAIAR R 9 GIAANSIN PR 4

DLRMENES

g,

mi 0 sk ¢ sy 1 1A
W MN = NP = MP = MQ
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126000 N, P,Q Caislidiighia M iaytws
f8A /PNQ =ai1: /PMQ =2a

W AMNQ REMANENRANN M
3] LQNM = ZNQM =60° —

W AMPQ MHNMANNENRANN M

1800 — 2
912 /MPQ = /MQP = T“ ~90°— q

IANS ZNQR = /MQP - ZNQM =90° — a - (60° — a) = 30°
2] ZNOR =2/NQR = 60°

ANOR thifiimanushji9: NO=OR=NR=1
yfiig)s ZNPR = /PNQ+ /NQP = a +30° (1)
Wlwsmman MNQR oinphigh C fayw ifams
/NRP =180° - ZNMQ =180° - (60° + 2a) = 120° — 2a
$12) ZPNR =180° - (/NRP + /NPR)

& /PNR =180°-(120° - 2a + a + 30°)

o /PNR =30"+a (2)

My (1) 88 (2) 1IsMS ZNPR = /PNR

1912 ANPR Q[iIMANUEMARLU R

=> NR =PR

16 NR =1 (i)

JG1S: PR = 1 Ram{uiih

{ emad cla )

m+n

Mdmx*n=
mn+4
AN A =((--- (2009 %« 2008) * 2007) * ---x 1)« 0) 4

SIRMENES
. o + 2 1
IHaRmm ms2= 12 - =
o = m+4 2 .
—+1
a o o ) al k) 1 3 1
imyinségsinundiohm mslawn (— % 1) - ?— =53
§+4
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1 0
1 ) 3% 1
—x%x1l%x0= —
2 . 4 12
NOIS: A= —
Y 12

{ a3 g )

1AYSGSSAR n USHIUN 1 8y 2008 iHipu:
2.6.10...(4n — 2) iGAGEY n!
SIRMENES

2.6.10...(4n—-2)=2"[1.3.5...(2n - 1)]
1.2.3...2n —1)(2n)

2.4....2n)
1.2.3...(2n)

27(1.2.3...n)
B (2n)!

n!
INWanNT 2.6.10...(4n — 2) IGANG

2n)!,
' n.

n.
on)! .

! ";) —nlk iUk eN®
n.

= C(2n,n) =k e N* Gin: n = 1;2008
B61S: 11SGSSAR n G$S 2008

{ a2 cog )

n .

n .

t7p]))
pxi~y

2

NSGSSHE 38h (a1;01) ; (az;b9) 84 (as;b3) MUTINMENAGSH -

a® —3ab? = 2009 (A P o (1 )(1 )(1 a3) .
n —_— — — — — —
b® —3a*b = 2008 by bo b3

SLRM LS

a® —3ab® = 2009
g 3 2
—3a%b = 2008

D3

oy in
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(@® - 3ab?) 2008 = 2008.2009
b® - 3a*b) 2009 = 2008.2009

( °—3ab?)2008 - (6> —3a?b) 2009 = 0
AHRSh b® oMb t:%
(t —3t)2008 - (1—3t*)2009 =0 (1)

pdmin syl (al)- (az) (@)
b bo bs

~ = _a1)|,_Q21(,_93

mmﬁsmm:(t bl)(t bz)(t bg) 0(2)

MDSHQimnwt=1

2008.P = (—21)2008 —(-2)2009

uUiS P =
1004

{ a2 dmo )
Gin:Ggsan n SywIdsHifus 1AvIRAGSST £(n)
UED £(0)=0; F(V)=188GiM:n=2; fF(n)-2f(n-1)+f(n—-2) =
(-1)"(2n —4) 9 GAN £(2008) 1 £(2009) 4

SIRMENES
fUgRAY £(0)=0
f)=1
n=2:f2)=2f(D-f0)+4-4)=2
n=3:f3)=2f2)-f(1)-(6-4)=1
n=4:f4)=2f3)-f(2)+(8-4)=4
n=5:f(5)=2f(4)~f(3)~(10-4)=1
O8NS : f(n) =110 nivw
f(n)=niling
PWMEInAINS :
SIANARGIM: 7 =0;1;--- ;2 - 1
POWHARRN n =k
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f(k)=2f(k~1)~f(k~2)+(-1)*(2k - 4)
i ki fR-1)=k-1

S fk-2)=1
= f(k)=2k-1)—1-(2k —4)
flk)=1

gfinig)a ik g F-1D =180 fF(k—-2) =k -2
=>f(k)=2—-(k-2)+2k -4

f(R)=F
BGIS: £(2008) = 2008 84 £(2009) = 1

183088 Nd x =& + VE2— 110U & thGgSanFnSithi 1 9
Sin: n=1;2;3;.. tmhA i’gﬁﬁﬁ%’s x" 4
GIAANS) Ay, HSAUSIS A, 9

DIRMENES
ﬁjgﬁﬁg:x:k+\/k2—1; EeN*" k>1
Ml y=k—-VEk2-1
UEeAN 0<y<1{AUE>1

x+y=2Fk
=
xy=1
AMDS x,y NUISUEMI
t*—2kt+1=0
352—211’,x+1=0|x”_2

= 2
—2ky+1=0]|y""

URHD : x" +y* -2k (xn_1+yn_1) + (x”_2+yn_2) =0
MRS, =x"+y"

=8,=2kRS,_1—-S,,_9; n=2

iNW Syg=2¢€Z

Si=x+1=2k€Z

=>8,=x"+y"€eZ
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43



us Rt § Ggamig OUMARANBTENTHF Olo MA I

(MBIIAIINS)
ghinigla: 0<y<1
>x"<x"+y"<x"+1
= [x"+1] =x"+y"
= [«"]+1=x"+y"
TA,+1=x"+y"

IHMNS (A, + 1% = (" +y")?
Ai+2An +1 =202+ y*" + 2(xy)"
=Ay, +1+2(1)
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IWBHARAIBN a® + ab +b% = (@ + b)? —ab > —ab (WUMNESIAAYISIG

N a+b#0)
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a+b+c+2r=0 (2)
ab+2ar+2br+ri+s*=0 3)
my (2) 81 (3): r?+s*=-2r(a+b)—ab=(a+b)*—ab=-ab (4)
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{ s5ema3 Zob )
FWUAT M8MI x° + x = 2009 MISYNTRWMSTAYWAR WIWY A
I:NGSSHUS NS 9 1A2) 4,5° ~ 1845 ; 4,6° ~ 2059

DIRMENES
MUHSAYS f(x) = x5 +x — 2009
fl(x)=5x*+1>0
Hsays £ 1RSIt R
f(4,5)=4,5°+4,5-2009
= 1845 +4,5 2009 < 0
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f(4,6)=4,6°+4,6—2009

= 2059 +4,6 2009 > 0
IAMS £(4,5)x f(4,6) <0
MU JUSRIGRAAMI : £(x) = 0 NSUTAYWAR xo IR0V 4,5 < x9 < 4,6 9
AU xg = P NGSSUSNS p,geN*; (p;q) =1

q
5
s mingith (‘—’) +2 _9009=0
q] ¢

p°+ p.g*=2009¢°
p®=q*(2009¢ - p)iq
= piq BSNR

BG182 x NGSSHUS NS

ENWUENAD Gim:auGsshaifen
a b

1
. + + >_ 9
106 +11c 10c+1l1la 10a+11b 7
SIRMENEs
Mdx=10; y=11;x+y=21
S a b c 3
[N + + >

xb+yc xc+ya xa+yb x+y
MA A=xb+yc
B =xc+ya
C=xa+yb
muiasymn Cauchy-Schwarzs

(\/5 \/B \/E ?
2_ — — O —
(@a+b+c) _\\/_ \/aA+\/]E_3 bB+\/E veC

(@+b+c)< %H%*% (Aa +Bb +Ce) (1)

i Aa+Bb+Cc=(xb+yc)a+(xc+ya)b+(xa+yb)c
=x(ab+bc+ca)+ylac+ab+bc)

=(ab+bc+ac)x+y)

W a?+b%2+c?=ab+bc+ca ‘(@a+b+c)’=3(ab+bc+ca)
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a b c (@+b+c)
D=>—+=+==

A B C (x+y)ab+bc+ca)
"“iS°a+b+c> 3 1
ROIS: —+—+—== =—
’ A B C x+y 17

{ a3 dod )

60nG M,K,L [phadlighaid{gh AB , BC , CA is{iiman ABC
9 pOwUEmAt thhdcipepigis{@manygw ahsinmupgpigman

o (<3 1 ) ) ol
MAL, KBM Y LCK §sfothi - ispgnigiiman ABC

DIRMENES

SZ Sg
B K C

pwugmat unhdopgpigisiimanyw aadinmuirgpigiimaon MAL,
o [ 1 k) k) al ‘
KBM y LCK 8sRomi - IS[Agnigiaman ABC

MRS =Sapc; S1=SamL
So=8Spurk ; Ss=SLck

ifaeng D1 =AM AL

S AB AC

S» BM BK

S AB BC

S; CL CK

S AC BC
QUB']&>}‘§>1'§>1 nYEM
S 4°8S 4’ S 4L =
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AM AL BM BK CL CK 1

"AB AC AB_BC AC BC 64
?.AM BM AL CL BK CK> 1 (1)
AB AB AC AC BC BC 64

muifgemn Cauchy
_AM+BM _AB

AM BM <~ >

-AM BM _1

AB AB 4

.o AL'CL _1 BK CK _1

Hom —— 1 B0 B0 51

"8l AC AC>1° BC BC

e AM BM AL "CL BK CK _1
F

"8 AB "AB AC AC BC BC "e4
Bwh (1) = auniia

{ semad dos )

2
A oS3 o = o a,+1 .
IAQJIRISOSSHAR (@n)nar AONRINW a1 =2, @iy = —5— BN n 2
N
19 Wwugmat Y. <1 GIN:AUGSSARTYRA N 9
J':laj'i‘].
SIRMENES
11

= <10d
ai+1 3

- §in: N =1 %uyna

-GN N>1:
musAgshAns imlmth a; > 1 Sim:{ay j

J+1 J = 9 J = 9 ’
_ai+1l  ai-1 (a;-1)(a;+1)
aj1—1= -1= =
Clj 2 2
¢ L —1(“J‘1)ﬁxm=m->1
4 e+l 2la,, 1) vz
. N 1 1N g,-1 1XN —1)°
TUJEI@SZ 125 aJ 1 QZ (aJ ) _
j=1a;t j=1a2j+1 le(aﬁl 1)(aJ 1)
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Qj+1-0Q;

i(aje1-1)(a;-1)

P
\aj—=1 a;q-1

1 1 - 1
a1—1 aN+1—1 al—l
{ a2 dod )

1mR6gsanigndu a,B,4 §h u mmm]ﬁmnmemm ap = 1+ BA
WA xo MHoABHIRAISESSARIENGU o S b IIWWA v

[l
™M=

A |
j;a]+1

J

[
Mz

J

=1 0a

aa + fb {4 A+ pb 9 GHUUIHUCHWAGANG
My (xo, yo) 1FIHR FRATS HHWHIGANIE YW 9
M
40 TEE T T T T T . 0
d X0

W xo MAIGAUETRAISGSSARIGNEU a §h b i IWWA y, MGIoABHIRATS
aa+ Bb 84 Aa + ub
IITADMS (xola A xolb) = xol (aa + Bb) = A 81 (xola A x0lb) =
xol (Aa+ub) =B
HOIS: xolyo (1)
yfikig)a yolA = aa + Bb = yol (aua + Bub)
yolB = Aa + ub = yy| (,[Ma + ,B,Ltb)
IAMS yol (au—PA)b=b{M: ap—pAr=1
W (yola A y0lb) = yolxg  (2)
my (1)&(2) = X0=Y%0
B01S: SANG Mo (x0, o) BVSTRUWIRG AR

9,
¢
30
-—
-—re
Nn
3
—
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{ ssema3 dow )

IBHSAYSAUNM £ (%) = apx” + @p_16™ 1+ +a1x+ag IRUBISINS
AN GSSARIGNEU 1 IARUIISTSSARIINTU xo TRV £ (x0) = p
G

Suly 49 ulnmt vsGssanignsu B dsnuBsHiiRN £ (B)
(1

DIRMENES
TANS [ (%) = ApXl +ap_1X0 4 +a1xo+ag=p
1808H] f(xo+kp),keZ
f(xo+kp)=a,(xo+kp)" +an_1(xo+kp)" '+ +a1(xo+kp)+ao
= (anxg +anZC(n,i)x8_i(kp)i) +

1=1

n—1 _
(an 164 lia,_ 1ZC(n 1,0)x5" i Ep) |+ +(a1x0 +arkp) +ag

n
= (anxo +a,-1%y L axg +a0)+(anZC(n,i)x8_’(kp)l +---+a1kp)
i=1

—p"‘p(anZC(n l)xg Lkz - 1+an 1ZC(n’ 1 z)xg 1- sz i— 1 -+a1k

l i=

f(xo+kp)=p (1 +a, Z Cn,i)xl k' p t+a, Z Cn—1,i)x " 'kip?
i=1 i=1

+---+aik)
IRAMMS plf (xo+kp),ke”Z
Bo1S: v1sGgsAnTendu BifsnuSsHuiR £ () BsiusthGgsuly

{ emad dog )

ﬁjﬁ (x,) AN ;= 1,200=1 88 a1 =%, + 2,1 GIN =2 9
f{jﬁ (yn) AnNEINW Yo = |XnsaXn_o — Xni2%Xy,| Sin:n=349
ﬁ:J' (z,,) ANNETN 2,—9=4x,_9%X,%,,19%+4 8itm: n =3

FIGIGIM: n =3 9 AMNIRATYE Ys042011
918 ﬁj i (z,) IMNADAR 9
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DIRMIENES
9-UIMD (y,) mﬁjmﬁiétm: n=3
Yn = |Xn1aXn_2— Xpi2%,]
= [(Xp+3 + Xn+2) Xpn—2 — Xpt2Xn| = [Xp43%n-2 + Xy 42 (Xn—2 — xp)|
= [Xp+3%Xn—2+ X2 (Xn_2 = Xp-1—Xp-2)| = |Xn43%n_2 — Xpn42%n-1l
= 243 (Xn-1—%p-3) = Xnt2Xn_1] = |—Xn13%n-3 — Xn—1(Xp42 — X543)l
(MNe Xp-1=%p-2+%p-3=> Xp-2=%p-1—%Xn-3)

= [=Xp+3%n-3 = Xp-1(Xpnt2 — Xpni2 — Xpi1)l
= |Xn43%n-3 — Xpt1Xn-1l
Yn = |x(n—1)+4x£n—1)—g - x(n—1)+2x(n—1)| , Vn=3
HO1S: () i’nfgmﬁmm: n=3
- FUNIA y3042011
Yn = Yn-1, YN =3 = Y3042011 = Y3042010 = *** = Y4 = Y3 = [X7X1 — X5x3| =
|113-1-5-2|=3
V- U ARYW ISR (2,) MMIDMAR
TAYIS ¥y, = Y1 = = V3042011 = 3 WIWIADS :

n = | XntaXn_2—Xpi2Xnl =3 = XpiaXn_2 — Xni2X, = £3 = XppaXp 2 =
Xpi9%, +3
YHRIS)R 2, — 9 = 4042 (XnXnso £3) = 2, = (£3)% + 2(£3) (2, X 2) +
(22 %n+2)
Zn = (£3 + 2 Xn40)° IMU{MARGIM AU 7 = 3

{ a2 dos )
SSA ?mgﬁmma>1X>0ﬂkmu AR Tenu
34 ¢, hégsanignfuUiRU 0<c, <a 6N j=0,1,...,%
k

J=0

DIRMIENES
- MUTHIOAREAUSUSQIIAMS : X =aqo+co,0<co<a
go=aqi1+c1,0<ci1<a
gi=aqges+c9,0<co<a
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gr-1=ax0+cp,0<cp<a

IAMSAAISENIGA: X >qo>q1>qe> > qp1>qr=0
XZCL(]‘()-I-CO

=a(aqgi+c1)+cyo :a2q1+acl+co
=a3q2+cza2+cla+co

= aqu_l + ck_lak_l +---+cia+cy

:ckak+ck_1ak_1+---+cla+co, (ck_l:ck)iﬁEUOScj<a,j:0,1,...,k
k

B01S: X =cra® +cp1a® T+t ciatco =Y cja’
J=0

- UMt X o Singwivuas
Ut X moanimsituy :
X:ckak+ck_1ak_1+---+cla+co,03cj<a
X:c,kak+c’k_1ak_1+---+c/1a+c'0,05c'j<a
A S (ck —c,k)ak + (Ck—l —c/k_l)ak‘l et (01 _c'l)a n (CO—C‘, ) -0
i X Mot sAtuui samoimmsS§San j IRugotha wiw ¢, #
¢, WIWiAmS :
(ck — clk)ak + (ck_l — c'k_l)ak_1+---+ (cj+1 —c )aj+1+ (cj —c
= a’ ((ck —c’k)ak_j+ (ck_l —c’k_l)ak_l_j+---+ (cj+1 —c’1)0L1 + (cj—c’j)) =

:>(ck—ck) k= J+(ck 1—ck l)ak =g
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{ s5ema3 do0 )
HAYWNSER 0 §um R ovnimiiman ABC gwitunsuingg 2p
1 (BImaN ABC 18 TAIAINAYWwIg)ald s Ea I §4A1 r 9 uinms

A B C
AR+r=p|tan—+tan—+tan—| 9
2 2 2

SIRMENES

(@)

mujuysAMIROTAaRAIMAN ABC 1AMS :

fn 9

A B C
r=(p-a)tan—=(p - b)tang (p—c)tanE

r B r C
tan— =tan—, =tan—
p—a 2°p-> 2 ' p—c 2
C r r r
=>tan— +tan—+tan— = +
2 2 2 p—-a p- b p—c
A B C
Ml K =tan— +tan— +tan—
2 2 2

::>l\'>

r
=

| &

r[8p?—2(@+b+c)p+ab+bc+cal r(-p?+ab+bc+ca)
- (pma)p-b)p-c) - (p-a)p-b)p-c)
mujussigAgnis{Aiman ABC :
S=vpp-a)p-b)p-c)=pr
= p(p—a)(p - b)p—c) = p*r’
WS (p—a)p-b)p—c)=pr’* (2)

5 o ~p%+ab+bc+ —n2+ab+b
ﬁ‘IU(l)Sﬁ(Z)iwﬁmSK:r( pra : c+ca) —p*+ab+be+tca
pr pr
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mujuugiRig)aisigpepAiman ABC -
abc

S:—:

ar 77
=4Rpr =abc
my (2) :

abc+(p—a)p—-b)p—-c)=4Rpr +pr2
abc+(p®—(a+b+c)p®+(ab+bc+ca)p)—abc=pr(4R +r)
p(p®—(a+b+c)p+ab+bc+ca)=pr(4R +r)
p?—2p*+ab+bc+ca=r(dR +r)

my (3) :
44R+r) 4R +r
K: =
pr p
pK =4R +r
A B C
= pltan—+tan—+tan—|=4R +r
2 2 2

5 B C
WOISc4R +r=p tanE + tanE +tan—

s doo )

i sif{ehtss 99 AR URARMSASNSESS Ty38x5 AN

w

IIMSADNS YW 4 1Aie x 81 y pRIbIMURTIEwES nRigh
SYWINSHSSASMISIIM

DLRMENES
TA[RIAUS x Sk y nh[pmsmummuu 11472555 s 7y38x5 onh Gk 99
9
IANS ged(9,11) =1
134725 7y38x5 {oAMGEH 99 = 9 x 11 qyzmia
y+y+3+8+x=0(mod9) S 5+8+y—-x—3-7=0(mod11)
Sx+y=4(mod9I))A(—x+y=-3(mod11))
Sx+y=9Im+4)AN(—x+y=11n-3)
MWo<x,y<9=>0<x+y=<18,-9<—x+y <9 ISNIAAMNS :
(x+y=HOA(—x+y=3),(x+y=HOA(—x+y=8),(x+y=13)A(—x+y =
-3),(x+y=13)A(—x+y=28)
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HOIScx=8,y=5

{ ssemad dol )
B ax? +2010x + ¢ = x MSYaIGISIARIANGSSHa
Uit W8MI a (ax®+2010x +c) +2010 (@x® +2010x+c¢) + ¢ = x
msyaIsighainnogsAniti 4

DIRMENES
vimeh wdmia (ex® +2010x +¢)+2010 (ax® +2010x + ¢)+c = x HISUL
isighatanogsiains
MY tx) = ax®+2010x + ¢
IwaBmi t(x) = x MSYNMGSSHH IN:YYW £(x) < x UYW t(x) > x
Gins{AUGSSin « 4
TAAMMS YUYW £(4(x)) < £(x) < x YYW ¢(t(x)) > t(x) > x GiN{AUGSSHa
x 9 MSSW
-U8W a (ax® +2010x + ¢)+2010 (ax® + 2010x + c)+c < x GiN:(AUGSSHa
x
- YUYW a (ax® +2010x + ¢)+2010 (ax® + 2010x + ¢)+c > x GiM:{AUGSSAn
x
36182 uBMia (ax® +2010x + ¢)+2010 (ax® +2010x + ¢)+¢ = x HSYIS]
nhaIaNGgsinaiRs

30

{ ssemad don )
NN P(x) = " + a 12" T+ agx™ 2+ -+ a, 10+ 1 HISHUSIHHAN
@105, @1 mGssEsuigms ‘ .;
RERNUM Px) 018 n YaiaginthSgshia
Uit P(2010) = (2v2010)

DLRMENES
INWISIYANN a1,as,...,an_1 NOSSESHIGNIS 1912 YR 21,29, ..., %,
méssiadsigums ¢
MY a;=—x;, i=1,2,...,0 Q0808 a; = 0 $AW P(x) = (x + ay)(x +
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ag)--(x+ay)

P(2010) = (2010 + a1)(2010 + a5)--- (2010 + ;)

gfikig)a 2010 +a; = 21/2010-a;, i = 1,2,...,n

IAMS P(2010) = (2010 + a;)(2010 + ag)---(2010 + a,)
>2n\/2010n a1 g,

35182 P(2010) > (2v2010 ) M ap gy =1

innsGssanigms r iR UANEIoAREaISGSSARIRMS
aS8hbY

9. UMt 2" -1 harane akifiorffnisGgsanigms 2° — 1 8k
2014

9. UMD 27 - 1 thesands phifiiorifaistsanigns 2¢ -1 8k 2° -

fﬂtﬁ?ﬁfﬁﬁﬁﬁn a=bqg+r,0<r

20 —1=209""_9" 19"~ 1=2"(2°-1)
— (2b_1) ((Zb(q 1)+r_|_ ”+2b+r+

Bois: 27— 1 aan adiiioadgaiss

v, UMt 2¢ -1 thaica

”m ro=a,ri=b 9 MmEl

ro=ri1q1+ro(0<ro<ri),rq

rn-10=r, 1<r,-2),rn-2=rn-1qn-1

InMS ged(a,b)=r,_-1=u

Ml Ry =2°—1,R, =2°—1 4 muiGicnifaususy §4 rughuahicd

Ry=RQ1+Ry,R;=2"-1

Ri=RyQ2:+R3,R3=2"-1

Rn 3— n— ZQn 2+Rn laRn 1_2rn -1

N

S C?
5;

O 2o

29241+ @ - D)
27))+(2"-1),0<2" -1<2°-1
SARIRMS 29— 1 §k 2° -

-4

nl
1o

rqQqo+rs (O =rsg< rg),...,rn_3 =rn-2qn-—2+
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Rn—2 :Rn—lQn—l
1AS ng(Ro,Rl) =2¢—-1

{ ssemad dod )
RN Uisition 2010200 84 13 4

SIRMIENES
2010%°%° = (13 x 154 + 8)?9%

= 8209 (mod 13)
W (8;13) = 1 MY Fermat:

8'2=1 (mod13)
= 82009 812><167+5

= 8° (mod 13)
85 = (82)°.8
=(13x5-1)*-8
=8 (mod 13)
BG1S: 2010207 i5A%H 12 fInNM 8

{ emad dob )

Ul?p m 2008 22008 + 32008 + 42008 . 52008 . 62008 . 72008 . 82008 .

92008 5/ NGSH 5 4

ésamzigzsacss
15N S A — (12008 _ 62008) + (22008 . 72008) + (32008 _ 82008) + (42008 _ 92008) _
52008

A = (1 — 6)k1 +(2 - 7)k2 +(3 —8)k3 +(4—9)k4—5k5
=(=5)k1+(=5)ky +(—5)k3+(—5)kys—5ks;
=5(—k1—ko—ks—k4s—Fks5)

iU k; EgsARTENSUIRLIS 9

A =5K i3 K thGgsanignunifms
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o y N
( BLNSR &9 )
iﬁﬁfgfﬁﬁﬁﬁfs A = 8inx1.8inxs...SiNXag1 SWNWHEM

tanxi.tanxs...tanxsgio =1 9

)

TIRM{EOE
IWHHMS 1= sinle + cosle > 2S81nx1C08X1
1= sinzxz + coszxz > 281NX9C0SX9

1= sin2x2010 + COS2.XI201() = ZSian()loCOS.?CQ()l()
-~ _ 2010
qﬂﬂH§ :1=2"".A.cosx1.c08%5...c08X2010
MW tanxi.tanxs...tanxsgg = 1
= A = c08x1.08X5...C08X9010

IHNS 1=>22%010 A2

1
A= 91005

Omrao PP P 1
WOIS: A WUREH A = 51005

{ ssema3 dod )
IRAUE (x,y) Mysisasmi 200757 + 20079 = 2009 + cos2y

DIRMIENES
20075 1 2007°°5% = 2009 + cos2y
. . 2
200751"°% + 200717517 — 2008 = 1 + cos2y

sin’x 2007 2
2007 +————2008 =2co0s”y (1)
200’278111 x
M uw=2007"""; xeR

NEZAN 1< U <2007

- 2007
AU+ — 2008 = 2cos’y
U2 -2008U + 2007 X
o =2cos”y
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(U -1)(U —-2007)

=2co0s’y (2)
(U - 1)U -2007)
<0

W 1<U <2007 > o

Hﬁﬁ’iGjﬁcoszy =0
(U-1)U -2007)=0

cos’y =0

U=1 4 U =2007
cosy =0

(2) 191t

S
cosy =0

20075"°% = 1 o 2007°"°% = 2007
cosy =0 -

sinx =0 4 sinx =+1

cosy=0

cosy =0

<

cosy =0

s U % R (k,k' € 2)
y:§+k7'[ y:§+k’][

{ s5ema3 dog )
IROUM Px) G 1g)hianpeanfrakime -
1) P(0)=0

2) P(x) - P(x—1) = x(x + 1)2x + 1) AU x € R 4

S

SLRMENES
. {1)P(0)=0
pUHRNY ,
T2 p)-Plx-D)=x(x+1D2x+1) AU xR
NS:x=0: P(-1)=0
x=-1: P(-2)=0
= x=0;-1;-2 thyais P(x) =0
i6 P(x) MON@EATGE 1AMS P(x) = x(x + 1)(x + 2)(ax + b)
>Px-1)=(x—-1Dx(x+1)[alx—1)+b]
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P(x)-P(x—1)=x(x+ 1) [(x + 2)(ax+b) — (x — 1)%a — b(x — 1)]

16 P(x) — P(x) = x(x + 1)(2x + 1)

RUIHANN :

2x+1=(x+2)ax+b)—(x—1)*a—(x—1)b
—ax’+Q2a+b)x+2b—ax’*+2ax—a—-bx+b
=4ax+3b—a

L1
3{4(1:2 : %

3b—a=1 b=_
2

1 1 5
HO1S: P(x) = Ex(x +1)%(x+2) = §x4 +2x° + §x2 +x

o y N
( BLNSER &0 )
MY a1;a9;0s... NEARISGSSATRUTINMENAGSN ap1 +a, = 2n
GIM:AU =2 910 a1 = 100 AANS agpp9

DIRMENES
- Anp-1+a,=2n;n=2
ying
a1 =100
WS a,=2n—a,_1
n=2:as=4—-a1=-96

n=3: a3=6—-ay =102
IR a,-1+a, =2n

>ap2+a,-1=2(n-1)
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n—-2-96=n-9810n7
n—1+100=n+9910 n 1w

1RMS aggge = 2009 + 99
ﬁuUiS: a92009 — 2108

a, =

 emad do )
AMNAHSAYS £ R — RIRUGIMFUESSARA x, y
flx—fl=1-x-y

DIRMENES
fla—fMl=1-x—y 1) ey=08x=a+f(0)
fla+f0)-f(0)=1-a-f(0)
fla)=1-a-£0) (2)
ex=a; k=1-f(0)i0i
=>fx)=—x+k (3)

mﬁ%yeR:
fa-fyN=—(-f)+k
=—x+(-y+k)+Ek
=—x—y+2k (4)
(1) §h (@) :
l-x—y=—-x—-y+2k
1
>k=-
2
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(10,202),(20,101),(101,20),(202, 10)
(404,5),(505,4),(1010,2),(2020, 1)

inaigis £(1009)
IBNSEAESH F(x)- F(y) = F(2xy +3)+3F(x +y)— 3f(x) + 6x IRV
x,y€ER
UTHIGT x SH y 1AM
FOF@) = f2xy+3)+ fx+y)—3f(y)+6y
Rany Sk HRiséoAdshAninAmS
0=-3f(x)+3f(y)+6x—6y
3f(x)—6x=3f(y)—6y
Ml g(x) = f(x)—2x
=>g(x)=g(y) =k, keR
= f(x)=2x+Fk
DgugéAG sl tams
2x+k)2y+k)=2Q2xy+3)+k+3[2(x+y)+k]-32x+Ek)+6x
Axy +2xk +2yk + k2 =4xy +6+k +6x+6y +3k —6x — 3k + 6x
B2+ 2k(x+y)=6(x+y)+k+6
E2—k—-6+2(x+y)kE-3)=0
(-3)k+2+2x+2y)=0
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Vx,yeER=>k =3
f(x)=2x+3
HE18: | £(1009) = 2021

VL. IAEigis M1 - p)
al 6.) b
s M = (VI3+Vil) ignewmals M
Bukin (M| I8 (M) =p
mi A=v13+V11, B=v13-V11
>M=A% A+B=2V13, A-B=2
A*+B*=(A+B)’-2AB=4x13-2x2=48
A%+ B%=(A%)° +(BY)’
= (A%?+B?)(A*-A’B*+BY)
=48(4%+B?)’- 3487
=48 (48° - 12)
= (A°+B%) eN
MW 0<B=v13-V11<1=0<B%<1
> |M]=A°+B°-1
P={M}=M-|M]=A°-(A°+B®-1)
:>1—p:B6
=>M(1-p)=A°B5=2°=64
JG18: [M(1-p) = 64

Dl

p

VIL inuT{p{diman ABC

M N

B 9) F C

1S BE=1,EF =24,FC =3
- BC =28,0B=13,0C =15

268
NANITR]PN



us Rt § Ggamig OUMARANBTENTHF Olo MA I

OE=0F =0OM =0ON =12
[dimanink OBM : BM/ 132 122 =
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mulfNUeAgURNGARRIIMAN

OB_AB 13 _x+5
0(11 AC 15 x+9

ox=2

=>AB =26, AC =30

p=AB+BC+CA = 26+28+30 84

HO1S: Uianan;m ABC & p =84 hn”‘u{pﬁﬁ S 1 mjLngm S =336
NAMIY
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A
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a
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S
V. 18 2J{fIm0n ABC gWituws{ih a,b,c WYSIHE A,B,C 84 m.,
my,m, NENIEE S'@mmmﬁﬁmmtﬂm A,B,C 4

_ L., 2b2+22-q?
A) PNWUENAS m2 = . 9
2) UM m2+m2+m? = 3R(2+2cosAcosBcosC) iR R Al

G

oAlAlAIman ABC 4

VL IREANAIANIeA (n2+n+41)" §1 12 9

#iEmAian
3 3 1
. 9. AN S=—+—+—
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3 3 1 3 3 1 1)\3
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IL.

W x = V4A+V2+ V118 (3/5—1)x:(\3/§—1)(\3/1+ V2 + 3/1):

5’/53—1:11

iISle x =
13/5—1

©1+—=\3/§
X

1)\2 u 1)\3
@(1+—) :2tmw(1+—) ~1=1
X

p—

oZ=v2-1

S

&

HOIS: S =1
Y. UMD xy = z(x + y)

MAa"=b"=(aby’ =k, k>080k#1

a*=kox=log.k, b"=k o y=logpk, (aby’=koz=1og,k
6 xy=log.k xlogpk (1)

1 1 !
i +y)=loguk(log.k +1 k)= *
z(x+y)=logapk(log 08bk) lograb (logak lOgbk)

B 1 log.k+logpk
“logyk +1logyk (logka x logkb)
=log.k xlogpk (2)

MY (D&?2): xy =2z(x+y) 0a

HOIS: |xy =2(x+y)

INAUGSSABIRMS n 180U n* —4n® + 2202 — 36n + 18 MAMNMAR

MY A=n*—4n®+22n?-36n+18=n*—4n>+4n%+18n%-36n + 18
A= (n2—2n)2+18(n2—2n)+18, W n2-2n=x 88 A = y?
Y2 =22 +18x+18=22+2x9xx+92—-63 =(x+9)> - 63

(x+9)° -y =63 U (x—y+9)(x+y+9)=63=1x63=3x21=Tx9

x_y+9:1 al [

o< I 2x=64—-18UNW x =23 S y =31
x+y+9=63
x—y+9=3 o o

o< N 2x=61NWx=3 S y=9
x+y+9=21
x—y+9="7 o o

4 iINe2x=-21NWx=-18"y=1
x+y+9=9
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ifx=23190:n%-2n=23Yn?-2n-23 =018 A’ = 24 (NGNS

nelz)
ifx=31n-2n=3yn’-2n-3=0Na-b+c=0iN:n=-1
Un=3
=n =3 NoI§W
itejlx:—liSWZn2—2n=—1g(n—1)2201813n:1
HOIStn=1Yn=3|
I 9. AANS) v, JGAMNG u, ThHSAUSIS n
5 n+1 n—-1+1
i v, = up, ISle v, 1=|——\u n \Un-1
n n-—1 n_lz(—)
n—1
(n+1) n+1) 2n? 2( n )
UV, = u, = Uu,_— ==|—\Ux_
" n " n 3(n2—1) T g\ o)t
al al 9 2
1912 (v,) NARTANNHIRUISHNN ¢ = 3
MYjUES v, =vy1 x ¢" 7
‘{ﬁ 01:2u1:2
2\t 2n 2\ 1
:>vn:2><(—) INWInAn MM S un:( )X(—)
3 n+1 3
. 2 n—1 - 2n 2 n—1
NOIS: (v, =2x|= SHu,=|—|x|=
? 3 n+1 3
V. 1§ a,b,c MbgsaRgsiiUIglAAUGAN o® + b7+ =3
UMt a® +b°+c°> =3
iwams a® +a’+a®+1+1254> (1) muinvmnge
b°+b°+b°+1+1=5b% (2)
+c’+c®+1+1=562 (3)
Wa (D+(2)+@3): 3(a®+b°+c°)+6=5(a’ +b° +c?)
ma®+03+c*=319:3(a®+b°+c%)+6=15
i a’+0°+c%=30n
R0i1Ss |a® +b°+c° =3
Iv. 1nGgsgnt 8§ 698 ¢ARGIRURIGH
M x thGg8gAT0<x <8, y MGSSGARG0<y<19
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IS 12x+5y =99 (1)
x=7,y=210:12x7+5x2=99 (2)i§|aiha
W (1)—(2) HY SHHR : 12(x—7)+5(y—2) =0 Y 12(x—7) = —5(y—2)
I y—2=12k, keZYx—-T=5¢t,teZYx="T+5¢
H0<x<8o0<7+5t<8
& -T<bt<1
7 1
S ——<t<-iNt=0U0t=-1
5 5 =

Ut=-11:x=284y=15

i0t=0191: x = 7§ﬁy 3

BGIS: 1AMOGRUGART 2 84 9”@ 015 U G/l 7 SHGART 3
2

a A C

tmhms AA’ AC+CA’Sﬁ AA’ AB+BA’
11 2AA’ AB+AC+CA’+BA’
i A’mamanmmts BC i BA’+CA’

St 244" = AB + AC

4AA”? =AB®+AC®+2AB-AC U4m2 =c®+b>+2AB-AC (1)
{aBC=CA-CBi1: BC*=AC*+AB®*-2AB-AC Y2AB-AC =
b2+c%—a® (2)

wn (2)1,48“50953 (1): 4m3:Cz+b2+b2+02_a2:2b2+202_a2
| o 2b%+2c%—a?
WOIS: |m;, =

v 4

V. UM m2+m2+m? = 3R(2+2cosAcosBcosC) IRV R P
oRFAImaAN ABC
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VI

o o 2b% 4+ 2¢2 —a?
MUERISIONIT IANS m2 =

4 ’ 4 ¢
2a2 +2b% — ¢2
4 3

iS‘lzm3+m%+m2:Z(a2+b2+c2) (%)
Mud USSR — o ¢ __9gR
9] = = =

L;‘ v 2sinA 2sinB sinC 5 L9 o
- .a _ .b _ .c _4R%— _ a +.b +c |

sin?A  sin?B sin?C sin?A +sin?B +sin?C

=a?+ b2°+ c? = 4R* (sinzA +sin’B + sinzC) (%)
Wh () TGV (+) ITAMS
m2+ms+m?’= % x 4AR*(sin®A +sin®B +sin”C)
1—cos2A N 1—-cos2B N 1- cosZC)
, 2 2 2
=3R?|2 —% x 2¢0s(A + B)cos(A —B) — cos*(A + B)

— 3R?2

= 3R2[2—-cos(A +B)(cos(A —B) — cos(A + B))]
= 3R2[2—-cos(A +B) x 2cosAcos(—B)]

i8A +B+C =711 cos(A +B) = —cosC

1912 m2 + m7 + m?=3R*(2+2cosAcosBcosC) [i&

J618: |m2 + m} + m? = 3R*(2+2cosAcosBcosC)

RESANINOIGA (n?+n +41)° §4 12
W n(n—1)(n+1(n +2) I6AMGER 12 RUAANGSSATRE

(n®+n+41)° = (n®+n+5)° (mod 12)
= (n*+n”+25+2n°+10n”+10n) (mod12)
= (n*+11n%+2n° + 10n + 1) (mod 12)
= [n(n®+2n%+11n +10) + 1] (mod 12)
=n[n*(n+2)-(n+2)+1] (mod 12)
= [n(n+2)(n”—1)+1] (mod 12)
=[(n—-1nn+1)(n+2)+1] (mod 12)
=1 (mod 12)
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RsdwEIsH be fg: bobo
IR - ssmisnS b swme m s
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RS 25+ 37+ 65 -4 -9"~1=0 1

© G o

QRHIMAN ABC WIS LA =2/B 9 a,b,c MINNHRWHISY
A,B,Cihm 1 UM a®>=b(b +c) 9
V. GIAMARUEIMANIR SRR GSsanam ShgywivahigShighh
ISUIRIIg)a

1 1
0000 1988 OOO0

GIUINEMIUSARIUHT

9
918 a1,as,a3,...,a, IGABSMGRY 3 Giulpmth S = Y of
k=1

IGANMGSY 3 9
V. AANSIRUYA
3 4 2020
1'+21+3! 21+3!+4! 2018!+2019! +2020!

mtmwﬁjﬁ (@n)ps1 BV @1 =2 80y = ag—” + ai GinsAU neN
AONS @, HSAYSIS 1 "
HYAUS £: R— RIGUDAF@)+f()) = flx+y)-xy—1 U x,y R
118 £(1) = 1 GuAGSSAR n IRYIW f(n) =n

#iEmAian

9. AN |1 -1+ x|| 0 x < =2
BNS x< -2 1+x<-1<0
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>1+x|=—-(1+x)=-1-—x

BAOS | 1-|1+xl=11-(-1-x)=12+x]
Hx<-2=>x+2<0

MIUEA [1-|1+x||=-2-x

BOISs 1 -|1+x|l=-2-x10 x < -2
B, RN REMI 2+ 35+ 65 -4 - 9"~ 1=0
BIEMIHNGEITIAIT 2% + 35 + 2% x 3% — (2)2 — (892 - 1=0
Ma=25b=38"i1a+b+ab—-a’-b*-1=0
Ua’+b’>+1-a-b—ab=0

AnNHR ARk hlh 21AMS
2a%+2b%>+2-2a—-2b—-2ab =0
a-2a+1+a-2ab+yhiﬁ 26+1=0

(a— 1ﬂ+m bﬁ+w 1)? =

a1=0 al
i9:3a-b=0 UY<a=>b
5-1=0 b=1
2°=1=92°
SUH
3*=1=3°

1. 9. UM a®=b(b +¢)

- o - a b C C
fﬂHLQﬁJUQﬁJ’SfU’: - = — = — = —
o v sin2x sinx sin(m—3x) sin3x
a _pe C
QSgLnxcosx gsinx—4sin3x
2c08x 3—-4sin?x
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am Shoywivshigihighi
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a c
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2c0sx 3—4(1-cos2x)
QMM —bib=— <
bt 2cosx 4cos?x—1
d =
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= b= = b2
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Ml x, 0+ 1x+2 DN eRhweisd A, B, C RmiRn x e N
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MUGRUSARISN cosA =

20x+1D(x+2)  2x+2)
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+x+1)P2-x+2? x-3
cosC = =
. 2x(x+1) 2x
AtNY C =2A 181¢ cosC = cos2A =2cos 2A -1
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- =
2x 2(x+2)
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o 23 —x2-25x—-12=0
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Tx—1=0i:x=1
i0 222 +5x-4=0mM8 x €N
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an+1+\/§_ 2 a, a2+2\/_an+\/_
Ani1— V2 @_,___\/_ a? — 2\/_an+\/_
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1)*

=a,+V2=(WV2+1)¥(a,- V2 =a,(V2+1)* —-vV2(v2+1)*

@an[(\/§+1)2”—1]:\/§[1+(\/§+1)2"]

V2[1+(V2+1)%]
V2+1)2" -1
inGSSAR n INYHNW f(n)=n

NS f)+f() =fx+y)—xy—1{AUx,yeR

i0y=1190 fF@)+fD=fx+1)-x-1
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S4B = \/a4—a3—a§ 4
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B 2URIMANIEY ABCD Y niSiyiAl R oiniAliiman ABD 84
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#iEmAian

. AANSIA gﬁmmmtsmsyaM x?+ 2%+ y? —3x — 3y +2023

M= (x*-2x+1)+(y* -2y +1) +(xy —x)— (y — 1) + 2020
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IL.

I1I.

M=x-12+(@y-12+x(y—1)—(y—1)+2020
M=x-12+(y-1)2+x-1)(y—-1)+2020

_ 12 12 PN y—1)2 3. e
M= |[(x-1D"+(y—-1)"+2x« 1)( 5 )+( 5 +4(y 1)° +
2020

y—-1))* 3
M = ((x — 1) + (T)) + Z(y — 1)2 + 2020

s M=202050x=y=1
JG1S: IYHUUINA M = 2020 Gim: x=y =1
5 o 2
IMgU T ISHSABS f(x) = tang +sin?x
1
Ml g(x) = tang =tan (g + kn) = tang(x +5k7)
= g(x)=g(x+5bkn), keZ
191:8U Ty = 57
a 2 2 2
SH h(x) = singx =sin (?x + 2kn) = sing(x +3k7)
=>h(x)=h(x+2kn), keZ
191:8U Ty = 37
eUT =PPCM(T1,T3)=PPCM(5n,3n) =157
ADNS) u, MHSAUSIS n JONMIA lim u,
WS w1 =1, upyy = u, +2"

Upi1=Up+2" Su,—u, 1=2""
Up-1=Up-2T 2"? o Up-1—Upn-2= 2"
Up-2=Up-3T 2" o Up-2—Up-3= "3
Up-3=Up-4Tt 2"t o Up-3—Up-4= 2"

Up-4=Up—5T 2"° o Upn-4—Up-5= 2"°

Uus=u +22 ©u3—u2=22
U,QZU,1+21 @ug—u1:21
RMUGRN Bk alilanamnsSalsDRGshlimy

Up = (un - un—1)+(un—1 - un—2)+(un—2 - un—3)+(un—3 - un—4)+---

NANITR]PN

283



us Rt § Ggamig

LIMEAMBIENDAE Olo MA lo

IV.

(us—uy)
+(ug—uz)+(us—ug)+(uas—uyg)+tu;

WRNS u,=2""1+2" 2427394 on 5, 192349224914y,
U, =2""t+2" 2 n B on Tt onThy 429422121 uy =1
= u, MEUYA n gisaiamdhnpidunssdo 1G8a 1 84 duigury

21
:—:2
’ ! 22"-1)
i[ﬁﬁfﬂs unZTZZn—l

HOISt u,=2"-1

nu)ud Lz RS w1 =L upy =u, +2"

n:1:'u1:1
n=2=us=u;+2'=1+2=3=2%2-1
n=38=u3=us+22=3+4=7=23-1
n=4=us=u3+23=7+8=2%-1
n=5=>us=us+2*=15+16=2°-1

muUSIANS: Whamms u, =2" -1
aNIA lim u,
n—oo

> limu,=1m@"-1)=00

[NWUMAD (AU x € RIAMS f(sinx), f(cosx) i
iHhms fx) = (x +2)(x - 3)
iU fx)=0>x=-2,x=3

GSSHIRWMISUNS]

X —00 -2 3

+00

f(x) + 0 — 0 +

Sin: Vxea, —1<sinx<188 -1<cosx<1
WEIR: [-1,1] < [-2, 3]
HG1S: f(sinx)<0,f(cosx)<0
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V. UM a2 > a2 +a? 80 a? > al+al [OIU)UIRJU A = \/a§ ~a2-a?
a — 2 2 2
SUB=\/a;—a;—a;
itfhens

a; = 111111111, a, = 222222221 = 2a;-1,a3 = 333333332 = 3a; -
1,
a4 =444444443 = 40,1
whms
ai—a3-a3=Ba;-1)*-(2a;-1)*-a?
=907 —6a;,+1—-4a3+4a;—1-a?
=4a%-2a;=2a;(2a;—1)>01{M: 2a; > 1
BGIS: a2 > a3 +aj
a’—ai-a5=(4a;-1)*—(3a; - 1)* - (2a; — 1)
=16a7 —8a;+1-9a7+6a;—1—4a3+4a; -1
=3a2+2a;-1=(a;+1)(Ba;—1)>0 N2 3a; > 1
B0IS: af > a3 +aj
IOJUIU A = \/ag ~a2-a? 8% B=1/a2-a2-a?

2 2 _ 2 2 2 2 2 2

:2a§ﬂﬁ—ai
=18a%*—-12a;+2-a% —16a% +8a;—1
=aj-4a;+1=ai1(a;—4)+1>01iM:a; >4
HOiS: A>B
VL. A0NG a,b,c,d i8R0 (@) =0 84 FA+i)=1+2;,(i*=-1)
i fE)=i*+bi®+bi’+ci+d
=1-ai—-b+ci+d
=1-b+d+(c—a)i
1-b+d=0 {d:b—l
-

c—a=0 c=a

iU (i) =018 {
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i fA+)=A+)*+a@+i)>+bA+i) +a(l+i)+b-1
= (1+2i+i%)° +a(1+2i+i2) A +i)+b (1+2i +i2)
+a(l+1)+b-1
=—4+2ai(1+i)+a(l+i)+2bi+b—-1
=—4+2ai—-2a+a+ai+2bi+b-1
=—-5+3ai—a+2bi+b
=—5-a+b+3a+2b)i

-5-—a+b=1 (1)

i f(1+i):1+2i181:{
3a+2b=2 (2)

1)=>b=a+6

(2)=>3a+2a+12=2

=>5a=2-12=-10=>a=-2

b=a+6=-2+6=4

c=a=-2,d=b-1=4-1=3

HOIS:a=-2,b=4,c=-2,d =3

VIL AANSUFASNGHIMANIEG ABCD thisAuSiS R §h R’
MAAC=x,BD=y
O DFaRoTAIAAIMmAN ABD
O' MEaaoiAFIAIMmAN ABC
I NEANCIUANIMRHRAGROHIMANIR]
BI=BO+0'] =0'I =BI-BO'
BI:%BD :%y Sh AO'=BO'=R'
=>0']= %y -R'
ph{fimon ATO' IakiphAg 1
AO? = AT +10" ({§ajueimdr)

2 )
R"*= (lx) + (ly—R')
2 2
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A NN,

AB-AD-BD AB-AC-BC
AR B AR’

SaaBD =SaaBc ©
AB?.y AB?.x?
AR 4R’
y X y-R'
ol ="ox=

R R’ R

y-R' / 1 y2-R"” ( ;1 2)
:2 ,—— 2 :4 JE——
= 7 yR e = 72 yR e

& y’R”+R’y*=4R?.y
< y(R*+R"”)=4R"R’
4R’R’

<

R’ R’ 4R*R’ 4RR"
X =—YV =

R R R?+R® R2+R?
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e 1 1 4RR? 4R°%R’
IRASNGAIMANIE ABCD : Sppcp = —xy = S RZ-R:ERE+RE

2
8R3R/3
(R2+R2)”
8R3R" 5
HOI1S: Sapep = 5 AAMIG
(R?+R?)

a </

(seseiPasiiadaOintanRwong
fannmsy joisp Bh snjidnfiar 98¢ ShpiAt ol
RISWIETH 90 BN bobo
MR - ASTIRISHE 9 W M s

L WM Viex—vVi-x=V1-x2

L 1AW p(x) = &% +ax® + bx + ¢ 118 x1, %0, 23 NUMISUTMI
p(x) =0 1W p'(x) RIS p(x) GIENWTAD

R

X1 X2 X3 ~09
p'(x1) p'(x2) p'(x3)
2020 k +9

III. AN S = 9
" ,;k!+(k+1)!+(k+2)!

&0k I VS x*+(m+1x+2
IV. ANGRIE m INE]9JHSAES f(x) = f

. SIUGIg:
X
[0, +00) 9

}{]

V. 169 a,b,c,deNihwiatha=b=c>d 4
GIUIMAWEMI x* - ax® - bx® — cx —d = 0 PSYTGSSAR

VL 183 a,b,c,x,y,z MAYwossAagosIg]adad x+y+z=a+b+c
Shxyz=abc 1 WgAN a<x,y,z2<c 8l a<b<c™
gipwWh x=a,y=b Shz=c 9

VIL 182jGHIMAN ABCD OiARNIRAYWNS AB=0a,BC =b,CD =¢,DA =

o +b+c+d 5
d8p=" 20 1 POWUEMAS IRRENCHIMAN ABCD 18:4

S = \/(p a)p-b)p—-c)p-d)

..
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I

II.

#iEmAian

I NWIEMI VI+x—V1I-x=V1-x2

wEmmnsSwamin 1-42>0

>-1=x=<1Uxe[-1,1]

MEMING BN
Vitx—Vi-x=vV1—-xvV1+x

foAnRARffh V1+x ifams

1_\3/1—x_\G/l—x-\("/l+x

M+x vV1+x

1 {;/ 1-—x 2_</1—x

- (1+x) CV1+x

M=y 1_x:>1—t2:tUt2+t—1:0
1+x =

A=1+4=5
_-1+V5

=>1=

? 5

_1-V5 .
=>t1=——— <0 8swn

X1 X9 X3

, +— +— =0
; p'(x1) p'(x2) p'(x3)
U x1,%9,x3 MUEIISEIEMI p(x) =0
1812 p(x) = (x —x1) (x — x2) (x — x3)

Wit

o

= p'(x) = (x — x9) (x — x3) + (x — x1) (x — x1) + (x — 1) (x — x0)

NANITR]PN
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IHHMS p'(x1) = (21 — 22) (1 — x3)
p'(x2) = (x2 — x1) (x2 — x3)

p'(x3) = (3 —x1) (23 — x1)
X1 X2 X3 _ X1 X9

F _ N
p'(xlyg p'(x2) p'(x3) (x1—x2)(x1—x3) (x2—x1)(x2—x3)
3

(x3—x9)(x3—x1)
X1 X9 X3

(x1—x2) (a1 —x3) (21 —%2) (2 — x3) ’ (xg —x3)(x1 —x3)
x1(x2 —x3) — x2 (1 — x3) + x3(x1 — X2)

(21 — x2) (1 — x3) (X2 — x3)
_ X1X2 —X1X3 — X1X2 + X9X3 +X1X3 — X9X3

(21 — 962)(901 —x3)(x2 — x3)
=00

B (21 —x2) (21 — x3) (2 — x3)

2020 k+2
III. AN S =
" ,;k!+(k+1)!+(k+2)!

k+2
Rl+(k+1)!+(k+2)!
B k+2
DRI+ +D+E+1D(E+2)]
B k+2
CRI(1+E+1+E2+3k+2)
_ k+2 1
CRIE+2)2 RlN(E+2)
kE+1 _(k+2)—1

E+2)! (B+2)
1 1

- (k+1)' T (k+2)
2020 1

=S5= Z (k+1)' T k12)

11 1. 1 1
S8 =y -
2l 3173l 41" 20211 20220

M ap =

21 92022!
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) U S.895 ~ c x2+(m+1)x+2 al al
IV. ARNARIY m IRY[3H]AYS fx) = . 1ASIUGIR: [0, +00)
X

. ' . x+1
IRSANE D=R—-{-1}
- x“+2x+2m
I3 F(x) =
f $ASIU [0, +oo) M{MiE f'(x) = 0 16U [0, +00)
AN=1-2m ;
-mn‘hA’50:>1—2mso:>mz§
AN<0
= f'(x)=0,VxeD
a=1>0

= f'(x) = 0 iU [0, +00) .
o AIAN A’>0:>1—2m>0:>m<§

= VA =V1-2m
>x1=—-1-v1-2m,x9=-1+V1+2m

MmN f'(x)
X —o0 -1-v1-2m -1+v1-2m +00
f(x) + 0 - 0 +

o83 £ 1RSI0 [0, +00) (A1) —1+V1-2m <0
1
= 1—2m§1:>m202>05m<§

wHoiGuwisanaui iAms m € [0, +00)
HG18: m €[0,+00)

V. uinthaudmi x* — ax® — bx® — cx — d = 0 HSYNTGSSAR
U8t a YUARIRNSIS f(x) =0
i1 f(x) =0 ihms
at—aa®-ba’-ca-d=0
Ud=a(a’-aa’-ba-c)
iINtald=>a<d ()

291
NANITR]PN



us Rt § Ggamig

LIMEAMBIENDAE Olo MA lo

VL

VIL.

W aa—a)=a*—aa®=ba’+ca+d >0
iISle a>a

ifaz=bz=c=dia>d gwﬁmiﬁﬁ (BY (%))
AWUNATS: BsSwhaSmi :

x® —ax® - bx® - cx—d =0 NSUNNNGSSAR

W x=a,y=b8hz=c

B c "
iMWa<x,y,z<ciN:—=180—-<1
z x

TN xyz = abe MUIUEMN AM-GM 1AM S

c b a ;Jabc
—+—+—-—=23{/—=3
zZ y x xXyz

- C c b a
wanmMNs - -1=1,-+—+—-—-3=0
z zZ Yy X

. b

wwiw 1-Zs01: $+2-2>1-250
x z y x

T=@+b+c)—(x+y+2)

a b c
zx(;—l)+y(;—l)+z(;—l)
b b
:x(£+—+g—3)+(y—x)(£+——2)+(z—y)(£—l)20
zZ Yy X zZ Yy z
iMWa+b+c=x+y+23iN:T=0
iIelvemnia e =x,b=y,c=2

HOISta=x,b=y,c=2

ENWUMAR IFAENS = vV(p —a)(p —b)(p - c)(p —d)

B

g,

A

W
D
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OHIMAN ABCD Minakigh
@S B+D =180° = B =180° - D
sinB = sin (180°— D)
L cosB = cos (1800 —D)

4

= 4

sinB =sinD
= <

cosB = —cosD

\
SaBep =Sapc+Sacp

1 1
=—absinB +—cdsinD
2 2

1 1
=—absinB +—cdsinB
% 2
= E(ab +cd)sinB

1
= é(ab +cd)V sin?B
1
= Q(ab +cd)V1-cos?B

Ml x = AC Mu{Fauenaise

ANRIMAN ABC : x® =a® + b2 —2abcosB (1)
éh[ﬁimﬂﬂ ADC: x*=c*+d*?—2cdcosD

| x*=c?>+d*+2cdcosB (2)
my (1) S1(2)

a’+b%—-2abcosB =c?+d?+2cdcosB
(a®+b%) - (c* +d?)

2(ab +cd)

= cosB =

(a2+b?) - (c? +d?)
2(ab+cd)

VMab +cd)? - [(a? +b2) - (2 +d2)]

2 2(ab +cd)

- Z\/Al(ab +ed)?— [(a2+b2) - (c2+d2)]

o 1
IWHRMmS SABCD = §(ab + Cd)\] 1-—

1
= §(ab +cd)

i
_ Z\/[(c +d)2—(a—b)2][(a+b)%—(c—d)?]
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=V(p-a)p-b)p-c)p-d)
HHIS: S=vV(p-a)p-b)p—c)p-d)

ipeseiPeasiiasdagningaiciegming
Sannmmsy joisy B4 sngilniig 98¢ ShpiAs ol

RSwisTsa ol §51 bobo
IR : BRSNS 9 SR M YT

T[
L iLﬂUJHSILU”mﬁLm"Wﬂﬂan ShEsinniy sin—

SIRANQIETY
o 10 17 o

A=88inl+83in£‘1
10 10
I1. iﬁ?jf(n)z(n +n+1)2+1quUn€|\|§hn21“l
f(l) f(3) f(2n 1) l_[(]”(21'—1))‘1
f(2) f(4) f(2n+1) i1\ f(2i+1)
AN a MHSHUSISniUG“Imin lim n\/a_n"]

n——+oo

Ml a, =

. 12506 st
i

1+b2)(1+02)+b\/(1+02)(1+a2)+

1+ 52

Iv. qunyiseudmi x20%0 = 1nﬁﬁﬂﬂuSSﬁﬁU”‘lﬁifﬂ&Ixo,xl,xQ,...,x2019
9 mi S 34 P auynihRuannyu s aSminiid awn
F(x) = (x — x1) (x — X2) ... (x — X9019) 4 GIAANS S, P §4 (1) 4

V. IAIHIMAN ABC 1S BC = a,AC = b §% AB = ¢ 11yoiaad{fiman
ABC wsia I §am rstiwidoinalfiiman ABC nisa R
[NWUEMAt IC% = ab —4Rr

#iEmAian
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3 /A T
L AANSIGIY A = 83in31—0 +8sin®—

10
o 4n R
IWAMS cos— =sin— (YUINM)
10 10
9270 T
& 2c08°“——-1=sin—
10 10

9 T 1
@2(1 2sin —) —1=sin—
10 10
9 4T . T
@2(1—4sm — +4sin —)—lzszn—
10 10 10
4 .
< 8sin*——8sin“——-sin—+1=0
7TlO nlO Q
o (sin—) (83in3— +8sin’— — 1) —0
10 10 10
. 37T . ... 7
©8sin"—+8sin“——-1=0 (i{N: sin——#1)
P 10
3 +8sin’—=1
. 10 10
WGiS: A=1

< 8sin

IL ARNS) a, MHSABSIS 1 JOOOIR lim nya,
tBms f(n) = (n+n+1)7+1
= [(n? )+n] +1
= (n2+1)°+2n(n%+1) +n2+1
f(n)=(n 2+1)[(n+1)2+1]
f(2n 1) (4n*—4n+1)(4n°+1) (©2n-17+1

_(
~ f@n+1) (4n2+1)(4n2+4n+2) @2n+12+1
1°+1 3*°+1 5°+1 (2n-3)*+1 (2n-1)*+1

i a, = . . .
T3 15241 2+1  ©@n-12+1 @n+12+1
- 12+1 1
an: p—
(2n+1)2-|1-1 2n2+2n+1
HOIS a, =
2n2+2n+1
ANIA 11I+n nya,
n—+0oo
1 1 2
lim nya,= lim e = lim = = V2
n—+oo n—+00 \/2n2+2n+1 n—>+oo\/ 2 1 \/Q 2
2+ —+—
n n
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I1I.

IV.

HOiIS: lim nya, =
n—+oo

ANSIETY ?smsgmM

M: a,b,c >0 iTHMY a = tana,b = tanpP,c = tany IRV a, B,y €
0.3)

W ab +be +ca = 1 HAMS

tanatanf +tanftany +tanytana =1

< tanatanf+tanftany =1—-tanytana

< (tana +tany)tanf=1—-tanytana
tana+tany

o[

A
o

1—tanatany tanf
< tan(a+7y) =cotp

©a+ﬁ+y:g

2 2 2 2
i[ﬁ'ﬁfﬂSa\/(l—Fb ) (1+c?) :(tana)\/(1+tan B) (1+tan?y)

1+a? 1+ tan?a
B (sina) cos’a
~\cosa) \ cos2Bcosy
\/(1+62) (1+¢?) sina cos(B+7)
=a = =

1+a? ~ cosPcosy cosPcosy

(1+5%)(1+¢?)
=>a 5 =1-tanfBtany=1-bc
l+a

o b\/(1+cz)(1+a2):1_Ca,c\/(1+a2)(1+b2):l_ab

= 1+ b2 1+ c2
hmv”ﬁSM—(l be)+(1-ca)+(1-ab)=3-1=2
s M=2

=0
c3
D

¢ =
ch En [

AN S,P 8% F(1)
IUMS 1= cos0+isin0

2kn . . 2knm
181 x, = cos +181n
. 2020 2020
iWk=0;x=1
o 27 .. 2m
iUk=1;, x;=cos +isin
2020 2020
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V.

o 4 . . 4n 9
iUk =2; x9=rcos +1isin =x]
2020 2020
k=3 O isin—or_ = 43
=3; x3 =co0s 1sin =x
$ T 2020 2020 !
ﬁej-k2019 ...................... 22019n+22019n ore
= ; X2019 = COS———— +ISIn—————— =X
d 2019 2020 2020 !
ihamms
S =Xgt+X1+X9+- -+ X219

S=1+x"+x]++aP°

1— x%ow 1-1

1—x; 1-—x;
P =x0-%1-%9- %2019
P = 1 - X1 x2 3 2019 1+2+3+---+2019

=0, PP =1,x1#1)

1 T 2019/¢dot1010
2 2 cao
P = x30191010 — {05 " tisin—
2020 2020
P =c0s20191+1sin201971 = -1

yfing)a

120201 = (¢ — 1) (2019 + 218 1 ... 1+ 1)
10 %920 — 1 = (2 — x0) (2 — x1) (X — x2) - (X — X9019)
3f(.'X:):x2019+x2018+x2017+‘“+1

=>f(1)=1+14+1+---+1=2020
2020 _
Bois: S =0,P = —1 &% £(1) = 2020

NWwuAt IC? = ab - 4Rr
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mi ZACB = a §4 D tnéanoidumati@i BC
ARIMAN CID ihws

) a_ID
sznZ—I?D
r
=>IC = —a =@
sin— Sin—
% 2
= JC%= ’ 7
sin?—
2
s, . o 1 1 a’+b?—c?
ifsin“—=—-(1—-cosa)=—=|1-
2 2 2 2ab
_02—(a—b)2_(c+a—b)(b+c—a)
a 4abb a 4ab
+b+
Wﬁp:%igﬁc+a—b:2(p—b),b+c—a=2(p—a)
2
=IC*= abr
(p—gXp—a)
5 abc
S=pr=——=vpp—-a)p-b)p-c)
4R
S2
=>(p-b)p-a)=
2 p(p=c) 2
o abrp(p—c) abr°p(p-c)
= JC* = 52 = 022
4 o
=>IC?’=ab- Rrp:ab—éer N§

p
J61S: IC* =ab - 4Rr
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II.

I1I.

IV.

(]

ipeseiPasiiasdagoingaiciegming
Sannmsy joisy B4 sngisniier 98¢ SheiAs ol
RSl ob §%1 bolo
?@ﬁﬂ . SIRIRISPE b stwsmss m s
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